rith ;I: n T n =
I ZR¥ - REH - £EEBRUZHEHR
(1) H#EEE (H21.5. 11 %)
m B M 4 # 5] # HEH (KFHE)
= & ™ i 18 1
m = Fﬁ 1 96 7
e % Fﬁ 4 341 39
= % F H 1 73 6
i % By 1 53 8
% M By 1 25 5
= 7 # 1 52 6
0 ) By 8 147 18
1= E Il iig) 2 0 0
i 0 By 1 54 7
& B By 3 65 T
2 5 By 4 81 14
w5+ E 1 39 4
% A By 1 0 0
N 30 1,044 129
B % 1 143 6
oW E 33 3. 215 284
2 5 64 4, 402 419
(2) INERRU DR (H21.5. 13]4E)
ERHE (OREED) REAREH HEH (KFHE)
wOE R & -
hER [ FER [ DER | ER | DNEKR | B 2R
= & = 3 20 | 18,073 6. 866 1126 595
= = i 8 7 576 352 87 80
% z Fﬁ 12 6 932 559 99 58
m = o 14 5 2,775 1,200 230 109
+ t Fﬁ 10 3 1,518 632 146 66
A i Fﬁ 9 5 1,209 544 124 81
Ml s Z Fﬁ 11 6 1.180 690 116 85
+ £ EF Kk @ 14 7 732 402 90 64
5 + ® 28 14 1,987 1.103 229 169
& & Fﬁ 8 4 1,952 848 162 82
= % i 9 4 1,230 635 117 72
I 5 166 81 | 32164 | 13 831 2,526 1,461
= = T 7 7 176 79 19 20
= % ® H 2 1 146 90 16 5
e 5 By 1 1 131 73 14 14
%] = M BT 1 1 120 69 1 12
= % il At 1 1 75 35 12 12
B e B # 2 2 51 44 15 17
3 7 #t 1 1 205 125 16 5
I 10 9 844 515 103 105




R (OREED) BREARFEH HEH (KFBEEH)

R A & : ‘ : :
hER [dER [ /DEFER ER I DMNER [0 2K
FS T BT 2 0 137 0 19 0
El X g i) 8 3 112 86 26 14
gl; AWE - tEMBEEAS 0 1 0 75 0 16
I it 10 4 249 161 45 30
NE: % HT 1 1 173 96 17 16
X i ¥ 1 1 10 10 4 8
B I H 2 2 183 106 21 24
= v 1) BT 19 7 1,201 649 124 96
f,', = =& N g 6 3 272 130 48 35
B I H 25 10 1,473 779 172 131
B+ & H 6 3 350 218 48 38
3 i iy 4 3 650 334 57 52
LA 3l ’T 6 2 276 145 19 19
| & 5 i) 3 1 169 105 26 18
E =] =] # 2 1 197 105 20 13
| 7 i) 6 2 320 168 51 26
w5+ H 21 7 932 489 145 88
BEH - I EREs 1 1 121 43 11 11
I it 49 20 3,015 1,607 377 265
x A T 1 1 258 164 22 19
| = = # 1 1 70 44 15 11
?ﬂ | & BT 12 2 581 299 89 34
I B 14 4 909 507 126 64
A R - 276 130 38, 837 17, 506 3,370 2.080
S v - 1 1 736 471 31 23
TN v 1 8 256 3,433 14 195
2 B 278 139 39, 829 21,410 3,415 2.298




(3) BFFHK (H21.5. 181%)

A 284

- " 2 5 oy % £ & # _ BEH (KBEH) _
5 = 5 5 = B

= F (e 149 153 302 23 19 42
7 = |BE& 155 226 381 26 17 43
17 w | E& 62 59 121 8 8 16
L B |E& &% 193 310 503 22 30 52
X Wwm|EE 9 8 17 4 8 12
% i |8 " 12 143 14 i 21
fif] 2 L& 415 525 940 38 40 78
= y3ll B O|e-EE 232 487 719 34 54 88
= yill B |EEER 257 395 652 37 32 69
=M E F oA |EE 378 445 823 53 26 79
EMEFHELSKR (& 44 32 76 6 4 10
5 M AL 0N |EE-ER 148 370 518 23 33 56
5 & /N EO|TE-IEH 487 420 907 38 35 73
= yll B |EE-EE 358 513 871 39 32 T
& F |#Re 199 241 440 24 20 44
= [E |Z& 79 70 149 8 1 19
& n(EE 124 135 259 14 14 28
- e |EE 17 1 28 i 5 12
7 1 = 119 221 346 26 21 47
L R |&E& 60 46 106 9 8 17
= n(EE 66 55 121 1 9 20
e A + |E& 58 65 123 8 1 19
th fO|EE 271 317 594 26 25 5
FRRELTESR (L& 35 28 63 5 i 12
B E |BRE 149 245 394 28 17 45
BEXRXKASK |BE 30 24 54 5 6 11
A Ko|E&E 124 109 233 18 8 26
= y 3l B |B¥E 354 229 583 38 16 54
1% % B |B% 152 209 361 25 11 36
B £ I |(T% 304 43 347 38 i 45
5 M X I |I% 516 6 522 39 9 48
= y3ll I |T% 659 134 793 52 19 T
‘A 73 I |T% 265 58 323 32 8 40
T = & v B |T%-m% 115 76 191 26 9 35
# g [ESE S 164 278 442 27 18 45
B M o' OE |KE 133 20 153 30 5 35

BirEt3 64 (A3 3. /1K 3) , 957 6, 641 13,598 861 609 1,470
ST EE |EE 332 498 830 42 19 61

NILEF3 7 , 289 7,139 14, 428 903 628 1,531

FILET 8#% , 661 2,913 5,574 240 95 335

B a5 ,950 | 10,052 | 20,002 1,143 723 1, 866

I AEBEEREEET,




B EEH

£ % HEH (KXBE)
# ® % 2 # .
- % £ i 5 Py 5
= F |&& 19 3 22 5 1 6
H = |E& 53 43 96 17 9 26
1] H |&& 36 27 63 3 8
= pil it |EE-E# 202 189 391 35 39 74
=) M| EE 24 16 40 4 3 7
& N |&iE 24 10 34 4 2 6
7 B |EE 18 6 24 5 1 6
= | EaE 13 13 26 5 2 7
= £ L& 11 9 20 6 1 7
A Ko|EE 14 11 25 7 1 8
PN A& 89 107 196 20 15 35
m s ® I |I% 55 1 56 7 1 8
=) yil I |T% 150 26 176 27 9 36
BITE 1 38 (A& 1 3) 708 461 1,169 147 87 234
EATH I EE |AE 22 56 78 4 4 8
X F ¥ 2 we 70 89 159 12 15 27
B 158 800 606 | 1,406 163 106 269
C &EfSH
. £ &% HEH (XBE)
# ® % 2 # . .
5 8 B 5 8 B
= pil it |E& 256 380 636 11 14 25
PN 5 |EE 34 57 91 5 4 9
B 2K 290 437 727 16 18 34
X F % % “wa 31 50 81 4 1 5
2 i 3K 321 487 808 20 19 39




(4) BRIXZEPHE (H21.5. 18R¥H)

" " % 3 1€ M _ BEH (KBEHE) i
5 S H 5 S 5
15 20 8 28 21 22 43
% M OE 1 1 2
/A= 3 2 5
Bt oF 1 0 1
= E B 15 5 20
B A5 17 16 33 20 26 46
% H OB 0 1 1
/A= 2 6 8
B oF 4 3 7
= E B 11 6 17
EHMEEEHE 45 28 13 26 57 83
IO 20 12 32
FoF & 13 8 21
= B 12 8 20
TEFEDODRS K 1 13 24 9 18 217
/A= 2 3 5
FoF & 4 7 11
= B 5 3 8
E SRR 1 4 15 5 14 19
/A= 6 0 6
toF 0 0 0
= B 5 4 9
FREED K 3 2 5 4 5 9
IN o 2 2 4
F ¥ & 1 0 1
IIEAEE 117 49 166 31 55 86
/A= 24 12 36
Bt oFE & 37 13 50
= F & 56 24 80
A&k 100 46 146 29 45 74
/A= 9 5 14
% 35 13 48
= E B 56 28 84
it EE 44 31 75 22 30 52
/A= 5 3 8
Bt oF 14 9 23
R 25 19 44
BEIOOEE 19 23 42 7 24 31
/A= 3 4 7
2 B 4 1 15
= B 12 8 20
EMAFELHHBRRES B 1 3 4 3 3 6
/A= 1 2 3
Bt ¥ & 0 1 1
BrEt1 18] 388 223 611 177 299 476




- " £ 4 € 3 _ BEH (KBH)
5 = B 5 z
SahiE# A 54 125 27 44 A
4 O 0 0 0
/A= 21 10 31
hoE 17 12 29
= F & 33 32 65
NIET 28 459 2717 736 204 343 547
BAALRE LB STIE 45 14 59 14 13 27
/A= 13 3 16
hoE B 11 7 18
B % 8 21 4 25
S DA R e T 1 R E 55 11 66 12 8 20
h % § 16 2 18
= 5 39 9 48
B 14K 559 302 861 230 364 594
S 1 2 3
hFEF 111 64 175
h % § 157 86 243
= % & 290 150 440
A ARBOSEME. EXHEED,
(5) BRITEHREE (H21.5. 18%#)
" 5 T £ & 3 _ BEH (KBEH) _
5 = B 5 = B
B F R 39 (A&36. H#%3) 7,955 7,539 | 15,494 1,024 714 1,738
TE 33 BE#H 1
w& b ®‘E
B 2 BE 1
KE 1 FBE 2
I 7 EHE 1
[EE K
HRIXIRFER 11 (R&R7. 9% 4) 388 223 611 177 299 476
HEEE 0
REREES 1
RATBEH 3
HEEE 3
55 1
B 50 (K#43, H7) 8,343 7,762 | 16,105 1, 201 1,013 2,214






